20km

2011 5 5 16 00

)
*1 GM( - )
*2
*3Nal( - )
*4
1 62k 5 5 8 24 127
3 a6k 55 9 12 257
15 T 5 5 13 47 097
21 32 5 5 11 2 28"
22 35 5 5 11 28 057
23 T sk 5 5 11 36 A
31 a0 55 9 59 767
32 ak 55 10 16 2027
33 s 5 5 10 33 1587
34 a0k 5 5 11 55 537
36 a0 55 9 38 317
37 s 55 9 05 357
38 K 5 5 12 16 037
43 - 5 5 10 13 057
3 o 5 5 13 11 037
74 st 5 5 10 54 017
75 s 55 10 35 027
76 - 55 10 22 047
77 - 5 5 11 29 087
79 o 5 5 11 40 1087
80 » 5 5 10 07 047
83 o 5 5 11 22 460
84 som 5 5 10 00 027
85 s6kem 55 6 00 0.3




*1 GM(
*2

*3 Nal(
*4

) /
86 s3km 55 6 00 117
87 Py 5 5 12 52 107
87 sokm 55 6 00 077
88 55km 5 4 17 00 137
89 60km 5 4 17 00 062
103 20k 5 5 10 22 057
104 — mam 5 5 12 15 15"
105 — P 5 5 13 30 067
106 a0k 5 5 9 45 047
107 o5k 5 5 10 37 197
108 5 5 10 51 297
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